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Q1 (20p.) Diagonalize the matrix A= | =5 0 —2 | € M3(C} il it is possible.
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Q2 (25 p.) Find the Jordan normal form and the related Jordan basis of the matrix
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Q3 (30 p.) Find the Jordan normal form and the related Jordan basis of the matrix
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Q4 (10 p.) Find an orthonormal basis for the complex plane 2iz — iy + ¢ =0 in C*.

Teke a basis be=(1,0,24) i}“(o ) for 4k plane
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Q5 (15 p.) Find the Fourier coefficients of the vector 2 — 5z -+ 3z with respect to the
orthogonal basis (1, s, s> — 1/3) for the inner product space P R)
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